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. variables which could satisfy tk

model. As such values are attained the equil
ified. It is told that the partial equilibrium is conce
ation of prices in a specific market. Here the influence of |
es on this market is not shown. Thus, in partial analysis the
supply of a particular good in a particular market is kept in
ce, in this model three variables are included: (1) quantity
d (Qd), (2) quantity supplied (Qs) and (3) price (P). Then we
e certain following assumptions regarding working of the market.

" We shall have to determine the equilibrium conditions which occur
& when Qd - Qs =0 OR Qd = Qs. This is called market clearing
equation.

Regarding demand’s functional equation it shows a linear negative
*relationship. It means when price rises demand contracts and when
B price falls the demand expands. The general demand function is
2 Qd = f (P) and the restricticn over the model is PT, Qd 4, P ¥, Qd T

= Regarding supply’s functional equation it shows a linear positive
" relationship. It means when price rises supply expands and when
B price falls the supply contracts. lhe general supply function is
B Qs = f (P) and the restriction over the model is PT, QsT, Pd, Qsi.

kThe supply function also |Q I
Ws this fact when price does o | !
da specific level nothing will '|
g Thus, in the model there
n equilibrium condition and
wioural equations which
demand and supply | ©
- They are as: Qd = Qs.

demand function is:
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oy curve while d is the slope of supply curve. Th
nd functions in their standard form are shown in Fig
axis the independent variable (P) and on y—axis the depen
riable (Q) has been demonstrated. [f we follow Marshall (as we do)
tverse is adopted where we show P on y-axis and Q onx-axis. = =
~ After constructing this model. the solution set will be found o#
Se., the values of three endogenous variables P, Qs and Qd will have to'b

d. They are shown by Q , Qd . Qs , P . These values will satlsfy '
hation. These values are attained with the help of elimination method. :
=T As at equilibrium Q = Qd = Qs while Qd =a — bP and Qs =—c i
UThen putting them g —bP=—-c +dP =a + ¢ = bP +dP = bP +dP=a
oy arc 3
+:ﬂ=‘.!- Plbtd)=a+c = P= ;Jr—d' sus L)

s T ; _ "
I “Here the equilibrium price has been represented into parameters. As, the

meters are positive hence equilibrium price (P ) is positive. P ting

the value of equation (1) in demand equation. ~'

i - atc ~ _a ba-bc
4}.-(! a-bP a_b(h+d . N I b+d

aking L. C. M. and solving

B ab+ad-ba—bc ad — be

ere equilibrium quantity (Q ) has been represented inf
s. H h denominator (b + d) is positive, while the numera
“’ Ei | g 13 _i_pﬁ'siﬁue, ht:ncc the mm :
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Qd=51- 3P
Qs=6P-10

—

1
I
=

Rl
[

IF

]

Ll el
Il I

_— Ln
D -
~) L

4)

|

13P-Qs=27 o
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Qd=15-02P
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Q+P=5 4
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Qd = 1200 - | p_o00 [ (10) | Q=2-.02P
| Q=800

) | Qd=50-8/7P | $_20 19 |(12)[Q=20+3P
_Qs—— T+ 2/3P | | Q=160-2P

8) [P-50-7/8Q | 53115 | (14) | x =500+ 2P
| P=15 +3/4Q x =—100 + 40P

8[P=7-x2 |p_sos [(16)|P=5—x2
P=7/6+x |- 6P=6+4%




ise Tax on Market Model

- its revenues, govts. may nmpuse
5. Again, the excise duty is levied =-= '
| -mnsumptmn of certain goods and services. For
 decide that for each bottle of whisky the suppllm sel
govt. $1. Thus, here the tax on each unit of the ta c-%, 3
dowever, we shall also show the effect when the imposed
y is in some percentage.

"’ﬂle Case of Fixed Excise Tax |

~ Here we start with the assumption that the govt. imposes an e
3 per unit on the producer. Here the selling price of the
ot be P rather it would be P — T. Accordingly. the supply funel
as:0s = f (P - T). While the demand function will be the

£(P) |
ard supply and demand functions will be as:

i
-

ttern we utilize Example - 1.
=—20%3P.. (l)and Qd= 220-5P T
Qd and Qs we found that equilibrium pnce is 30,
um quantity is 70. o
assume that Rs.5 per unit tax is imposed on the supplier. -
ol _’fl!ﬂﬂtlbﬂ assumes the following form : : |
20+ 3(P-5) =Q's= -20+3P- 15>
1 functic @'m. Qﬂ— 220 - 5P Thus at
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20 .-’zﬁl’ while Qs =4 + 3P and 20% tax is in
ns that imposed tax will 20% of the m@e

Qs =4+3(P-02P)=4+3P-0.6P=4+2.4P. ThusQg = 4 +2.4P
it equilibrium Qd =Q's= 20-5P = 4+ 24P

—5P-24P =4-20 = —74P=-16
216Th¢:nQ5 4+24P = 4+24(2.16)= 9.2

ﬂd 20-—5P= 20-5(2.16)= 9.2

therefore, obvious that because of 1 mp{humn of percentage excise
€ equﬂlhnum price has increased to 2.16 from 2, while equilibrium
'y has decreased to 9.2 from 10.
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demand and supply equations for a particular pr
200 — 4P, Qs = — 10 + 26P

rate tax of 5 per unit is imposed on each unit sold, dete
~ the new equilibfium position, the tax revenue at the equi
~ and the producer’s revenue.
Wwf the flat-rate tax of part (a) of the above, a tax of 20°

»m p;,\ge is imposed on each item sold. Determine the ¢

quil bnum position, the tax revenue at the equilibrium and ¢
~ producer’s revenue. 4

1S ic equilibrium values of Q and P.
00— 4P, Qs=— 10 + 26P = 200 — 4P = _10 + 26P =
6P—-I[} 200 =>-30P=-210 =P =7

,—4(?)—1?2 Qs ="-10+26(7) = 172 musl_:-——?,ﬁm:l

4 & '_"-valmea of P and Q when flat rate of 5 per unit is im|
_}p+25gp 5) = Q's =-10+ 26P — 130 = Q's= —]4{]+
5= 200-4P = -140 + 26p =—4P - 26P = -140 — 200 = >

. 340 =P=11.33.
r-;--4(ll 34)"‘ 200 - 45.33 = 154.67

) +26(11. 343=-140 +294.58 = 154.58
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pn& nf the gﬂnd whlch is
: f‘(Px) In the same way, the suppi o

. have to face the prices of mmplementary and
s way, the demand for any good depends upon pr
1 addition to its own price. The same like situation is face
pply. Thus, when we introduce prices of other goods the mark
xtended. Accordingly, we can get the equilibrium prices of othe

s in the partial market model. In partial model, at equilibrium Qg
E= Qd Qs = 0 where E Fepreserits excess dumanci But when

there will be # equations and for each good the following eq
__k:l true. E; = Qd;— Qs; =0 where i = 1. 2, 3, ..... n. Here whm
n any solution value we will be getting a set of equilibrium prices: '

d equilibrium quantities (Q;). The equations will be simultan
fied if these values are put into equations. .



=2120+2P, 410—5?.—2?';31
=~ 470 -8P, 2P, = 0

Here we get two equations. .
470-8P, 2P, = 0 '
415-P, - 5P, = @

Multiplying Eq. (6) by, 8.

3320 - 8P, - 40P,

SR =8P, - 2P,
- + +

2850 — 38R Subtracting Eq. (5) ‘.:5':'-'1
' = 3

‘Ez=?5L - as

= 33?3 e — 2850 75

=0 = 470-8P-2(75)=0
S : : -,d?ﬁﬂﬁﬁg:&"ﬂ?, =—32[]:}F| =40 }E—!E =78




